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XX6 TsN1 (plot by DAT)

9
Harvept

===="

Turn Color

Anthesis

Budding

120 -

T T !
o o o
00 O <

Buippng 1oy sAeqg

100 A
20 1
0

120

100

80

60

40

20

Days After Transplant



XX6 TsN2 (plot by DAT)
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XX6 TsN3 (plot by DAT)
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XX6 TsN4 (plot by DAT)
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Days After Budding

XX6 TsN5 (plot by DAT)
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Days After Budding
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XX6 (plot by adjDAT)
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XX6 TsN1 (plot by adjDAT)
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XX6 TsN2 (plot by adjDAT)
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XX6 TsN3 (plot by adjDAT)
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XX6 TsN4 (plot by adjDAT)
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Days After Budding

XX6 TsN5 (plot by adjDAT)
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Days After Budding
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Plot Env Data
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot EnvOpt Decision

25 4 T 30
20 n — TdeW 700 T
— To 25
151 600 -
- 20 -
10 500 A
5 -
15 - 400 A
0 PATG C1
5 104 optT1 300 - PATG _C2
—  optT2 C

AR

0 5 10 15 20 0 5 10 15 20 10 11 12 13 14 15 16
hr hr hr
25 1 — T | 604 — optRH1 7501 —— PATS C1
—o— T ——  OptRH2 700 4 —— PATS C2
20 - —o— C
40 - 650 -
15 | 600 -
201 550 -
10 - 500 -
0 1 450
5 -
400 -
0 5 10 15 20 0 5 10 15 20
hr hr
400 - — 80 1 ___"__‘____////"’\~—\v,\\\______ 900 -
—e— PPFD
601 800 -
300 - 40 -
700 -
20 -
200 -
07 600 -
] -20 -
100 500 -
-40 - —— warRH1
0 - 60 4 — warRH2 | 400 -
0 5 10 15 20 0 5 10 15 20

hr

optVPD PATG_T1
leafVPD | 55 - PATG_T2 500 7
airvPD T

hr
400 A
1.5 A 20 4
300 A
1.0 A
15 4
200 A
0.5
10
100 A
0.0 -

2.0 1

[ 4]
A

—— PATG_P1
—— PATG_P2
—O— P

o 4
(9]
=
o
=
(9]
N
o
o
(0]
O A
=
o
=
=

10 15 20 12 13 14 15 16
hr hr hr
70 1 —— PATS T1 600 7
257 —— PATS_T2
60 - o T 500 A
50 -
20 1 400
40 - —— RH
—— RHo i
30 T 15 . 300
20 - 200
| 10 -
10 100 -
0 | T T T T T T T T T T
0 5 10 15 20 0 5 10 15 20
hr hr
7 1 _
o AH 25.0
61 — AHo 22.5 1 2001
5 20.0 400 -
4 - 17.5
300
3 1 15.0
2 - 12.5 + 200 -
14 10.0
100 -
0 _ 75 T
0 5 10 15 20 0 5 10 15 20 9 10 11 12 13 14 15 16

hr hr hr



0-
4 -
8—

16—
20 -
24 -
28—

36—
40 -
44 -
48 -
52 -
56 —_—
60 -
64 -
68 -
72 -
76 -
80 -
84 -

Il

i

pm—

ill

I I I I
OQ &Q \2\0 $

’b
AQQ q‘,&“ O o S &

- 20

<& N (,Q’ <O QQ/ O Oq i
QO*(J/ “\(J/ ‘k(// ~k(JQ/ ~k(J/ *(J/
¥ p ¥



